
IE050−1X

N ncw*e = 1, 0, 0

r00je

W

n*e = ?
c*e = ?

CIE-test colour
no. 9 (R)

ncw*e = 0, 0, 1

c*e

t*e

n*e

w*e

n*e

w*e

relative blackness n*e
relative chroma c*e

neither yellowish
nor bluish (h*e=0)
neither blackish
nor fluorent (n*e=0)

Elementary (e)
anchor colour in
mind of maximum
chroma (c*e=1)

ncw*e =
0, 1, 0?

IE050−2X

N ncw*e = 1, 0, 0

j00ge

W

n*e = ?
c*e = ?

CIE-test colour
no. 10 (J)

ncw*e = 0, 0, 1

c*e

t*e

n*e

w*e

n*e

w*e

relative blackness n*e
relative chroma c*e

neither redish
nor greenish (h*e=0,25)
neither blackish
nor fluorent (n*e=0)

Elementary (e)
anchor colour in
mind of maximum
chroma (c*e=1)

ncw*e =
0, 1, 0?

IE050−3X

N ncw*e = 1, 0, 0

g00be

W

n*e = ?
c*e = ?

CIE-test colour
no. 11 (G)

ncw*e = 0, 0, 1

c*e

t*e

n*e

w*e

n*e

w*e

relative blackness n*e
relative chroma c*e

neither yellowish
nor bluish (h*e=0,5)
neither blackish
nor fluorent (n*e=0)

Elementary (e)
anchor colour in
mind of maximum
chroma (c*e=1)

ncw*e =
0, 1, 0?

IE050−4X

N ncw*e = 1, 0, 0

b00re

W

n*e = ?
c*e = ?

CIE-test colour
no. 12 (B)

ncw*e = 0, 0, 1

c*e

t*e

n*e

w*e

n*e

w*e

relative blackness n*e
relative chroma c*e

neither redish
nor greenish (h*=0,75)
neither blackish
nor fluorent (n*e=0)

Elementary (e)
anchor colour in
mind of maximum
chroma (c*e=1)

ncw*e =
0, 1, 0?

IE050−5X

N ncw*e = 1, 0, 0

r00je

W

n*e = ?
c*e = ?

NCS hue
circle colour R

ncw*e = 0, 0, 1

c*e

t*e

n*e

w*e

n*e

w*e

relative blackness n*e
relative chroma c*e

neither yellowish
nor bluish (h*e=0)
neither blackish
nor fluorent (n*e=0)

Elementary (e)
anchor colour in
mind of maximum
chroma (c*e=1)

ncw*e =
0, 1, 0?

IE050−6X

N ncw*e = 1, 0, 0

j00ge

W

n*e = ?
c*e = ?

NCS hue
circle colour Y

ncw*e = 0, 0, 1

c*e

t*e

n*e

w*e

n*e

w*e

relative blackness n*e
relative chroma c*e

neither redish
nor greenish (h*e=0,25)
neither blackish
nor fluorent (n*e=0)

Elementary (e)
anchor colour in
mind of maximum
chroma (c*e=1)

ncw*e =
0, 1, 0?

IE050−7X

N ncw*e = 1, 0, 0

g00be

W

n*e = ?
c*e = ?

NCS hue
circle colour G

ncw*e = 0, 0, 1

c*e

t*e

n*e

w*e

n*e

w*e

relative blackness n*e
relative chroma c*e

neither yellowish
nor bluish (h*e=0,5)
neither blackish
nor fluorent (n*e=0)

Elementary (e)
anchor colour in
mind of maximum
chroma (c*e=1)

ncw*e =
0, 1, 0?

IE050−8X

N ncw*e = 1, 0, 0

b00re

W

n*e = ?
c*e = ?

NCS hue
circle colour B

ncw*e = 0, 0, 1

c*e

t*e

n*e

w*e

n*e

w*e

relative blackness n*e
relative chroma c*e

neither redish
nor greenish (h*=0,75)
neither blackish
nor fluorent (n*e=0)

Elementary (e)
anchor colour in
mind of maximum
chroma (c*e=1)

ncw*e =
0, 1, 0?

IE051−1X

N ncw*e = 1, 0, 0

r00je

W

n*e calculated
c*e calculated

CIE-test colour
no. 9 (R)

ncw*e = 0, 0, 1

c*e

t*e

n*e

w*e

n*e

w*e

relative blackness n*e
relative chroma c*e

neither yellowish
nor bluish (h*e=0)
neither blackish
nor fluorent (n*e=0)

Elementary (e)
optimal (o) colour
of maximum
chroma (c*e=1)

ncw*e =
0, 1, 0o

IE051−2X

N ncw*e = 1, 0, 0

j00ge

W

n*e calculated
c*e calculated

CIE-test colour
no. 10 (J)

ncw*e = 0, 0, 1

c*e

t*e

n*e

w*e

n*e

w*e

relative blackness n*e
relative chroma c*e

neither redish
nor greenish (h*e=0,25)
neither blackish
nor fluorent (n*e=0)

Elementary (e)
optimal (o) colour
of maximum
chroma (c*e=1)

ncw*e =
0, 1, 0o

IE051−3X

N ncw*e = 1, 0, 0

g00be

W

n*e calculated
c*e calculated

CIE-test colour
no. 11 (G)

ncw*e = 0, 0, 1

c*e

t*e

n*e

w*e

n*e

w*e

relative blackness n*e
relative chroma c*e

neither yellowish
nor bluish (h*e=0,5)
neither blackish
nor fluorent (n*e=0)

Elementary (e)
optimal (o) colour
of maximum
chroma (c*e=1)

ncw*e =
0, 1, 0o

IE051−4X

N ncw*e = 1, 0, 0

b00re

W

n*e calculated
c*e calculated

CIE-test colour
no. 12 (B)

ncw*e = 0, 0, 1

c*e

t*e

n*e

w*e

n*e

w*e

relative blackness n*e
relative chroma c*e

neither redish
nor greenish (h*=0,75)
neither blackish
nor fluorent (n*e=0)

Elementary (e)
optimal (o) colour
of maximum
chroma (c*e=1)

ncw*e =
0, 1, 0o

IE051−5X

N ncw*e = 1, 0, 0

r00je

W

n*e calculated
c*e calculated

NCS hue
circle colour R

ncw*e = 0, 0, 1

c*e

t*e

n*e

w*e

n*e

w*e

relative blackness n*e
relative chroma c*e

neither yellowish
nor bluish (h*e=0)
neither blackish
nor fluorent (n*e=0)

Elementary (e)
optimal (o) colour
of maximum
chroma (c*e=1)

ncw*e =
0, 1, 0o

IE051−6X

N ncw*e = 1, 0, 0

j00ge

W

n*e calculated
c*e calculated

NCS hue
circle colour Y

ncw*e = 0, 0, 1

c*e

t*e

n*e

w*e

n*e

w*e

relative blackness n*e
relative chroma c*e

neither redish
nor greenish (h*e=0,25)
neither blackish
nor fluorent (n*e=0)

Elementary (e)
optimal (o) colour
of maximum
chroma (c*e=1)

ncw*e =
0, 1, 0o

IE051−7X

N ncw*e = 1, 0, 0

g00be

W

n*e calculated
c*e calculated

NCS hue
circle colour G

ncw*e = 0, 0, 1

c*e

t*e

n*e

w*e

n*e

w*e

relative blackness n*e
relative chroma c*e

neither yellowish
nor bluish (h*e=0,5)
neither blackish
nor fluorent (n*e=0)

Elementary (e)
optimal (o) colour
of maximum
chroma (c*e=1)

ncw*e =
0, 1, 0o

IE051−8X

N ncw*e = 1, 0, 0

b00re

W

n*e calculated
c*e calculated

NCS hue
circle colour B

ncw*e = 0, 0, 1

c*e

t*e

n*e

w*e

n*e

w*e

relative blackness n*e
relative chroma c*e

neither redish
nor greenish (h*=0,75)
neither blackish
nor fluorent (n*e=0)

Elementary (e)
optimal (o) colour
of maximum
chroma (c*e=1)

ncw*e =
0, 1, 0o


